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UNIT VI - INDIAN ECONOMY

GNP equals

a. NNP adjusted for inflation

b. GDP adjusted for inflation

c. GDP plus net income from abroad

d. NNP plus net income from abroad.

GNP uierr &b

a. uewaibasHHBaETE Ff GQFwiwiu’ L. NNP

b. uewelsassFBate il QFuiwinn L GDP

c. GDP wBmib Geuefbriigsd FULLLLL BI&J eUHLDTEIILD.
d. NNP wpgib Geuefipmiged L (Ul &) euHLOTEILD.

Primary sector consists of

a. Agriculture b. Automobiles c. Trade d. Banking
(PSHETEMID HIDB EHM6T 2 _6ITeNL SIS
a. Geuenmmemionto b. Hreflwimid e C. QUTHBHHID d. eurid

Consider the following statements regarding the rate of saving is low
in India for the following reason:

I.  Low per capita income.

II.  Poor performance and less contribution of public sector.

III.  Poor contribution of household sector.

IV. Savings potential of the rural sector not tapped fully.

Which one of the following statements are / correct?

a. I, II, IV are correct b. I, IT and III are correct

c. I, II, III and IV are correct d. I, III and IV are correct.

Uesteupld  Snyeimibeienmed  @bHwimalest Gzl lSHD  GOBUTS

© 6ITeNG).

L GOBHSH HNBLIT GU(HLOTEIILD.

II. JVWassemBhd OCFUOHBET LBBID CUTHIGHSHEOBUNET (& 6DBEUTET
LI erTI L

III. e&ibmeT HemBuieT GemBhHEH LIS
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IV.  &gmoliyssgienmuie (2T NN} SHmeir (LO(LYEDLOWITES
LWTUGSHSUILIL aTl606m6V.

gNwmer SmMmISHemen &HemiLNld

a. LII wpmpid IV sflwrerene b. I, II wsp III sRlwrerene

c. LILIT wmpmgip IV sfwmewen  d. I, 1T wmpnd IV gflwmerensu

4. Match the following

Rounds of GATT Years
A. Geneva 1.1986 - 1994
B. Uruguay 2.1973 - 1979
C. Tokyo 3.1950 - 1951
D. U.K. 4.1947

A B C D
a. 4 1 2 3
b. 4 1 3 2
C. 4 3 1 2
d 1 2 3 4
CQUT(HHHIB
GAAT &pid] QU(HL_MBIH6IT
A. GOxeleur 1. 1986 — 1994
B. 2 m&Geu 2.71973 — 1979
C. GLrssGwim 3. 1950 — 1951
d. UK 4. 1947

A B C D
a 4 1 2 3
b 4 1 3 2
C 4 3 1 2
d 1 2 3 4

5. Consider the following statement on Gross National Happiness (GNH)
i.  The term GNH was coined in 1972 by a British journalist.
ii. Jigme Singye Wangchuck the king of Bhutan included it in the
constitution of Bhutan.
iii. Sustainable and equitable socio- economic development and
Environmental conservation are pillar of GNH
iv. Psychological well - being, Health, Time use are some of the

domain of GNH
Which one of the following statements is/ are correct?
a.1iand ii are correct b. ii and iii are correct
c. only iv d. All are correct
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LeiTou(hd FnBmIBHeneT LIS

1. GNH eam anrgeng 1972860 e Ufgssreiwu ushsfdamaumenymed
9 (HEUTHSLILIL L Gl

1. yrmer ot Ms6o Fmns@u  aumtmieanss LT  oFdlulsuenioliifed
B BDMENHDHIT.

11l. [Blemeowimerr LOBE@ILD FOWOTEN  Fepd  QUTHEMTSHTT  eueniT&FS  LOBBID
GBBIFGHIL UTHISTI]  SHuimel GNHE@6 gmemnise.

iv. o emaiwed Hevert, 2 60 Heod, GHID LweT®h duwienes GNH@e
Fl60 BHENMMIGHET DLGLD.
g FaBBISHEneT H6WIL MBS

a. 1 woBpd il & b. ii wBpd iii gl

C. iv WL @ d. omaisasn i

India signed the Dunkel proposal in

a. 1984 b. 1976 c. 1950 d. 1994
AhHwm CUTH LMAISH6D HLHHD mBOWWSHHIL HI?
a. 1984 b. 1976 c. 1950 d.1994

Foreign Investment policy (FIP) was announced in

a.June 1991  b. July 1991 c.July - Aug-1991 d. Aug
1991

CeueBT B (1W&H6eS (e Oametens (FIP)omelss o6

a. @eir 1991 b. @ewev 1991

C. GoeL — Hel. 1991 d. esedl. 1991

Consider the following statement on World Trade Organization

I.  The Final Act of the Uruguay Round was signed by the member
nations of GATT in April 1994.

II.  An agreement to this effect was signed by 104 Countries. This
Agreement came into force on January 1, 1995.

III. At present there are 184 member countries

IV. Its headquarters is in Geneva, Switzerland.

Which one of the following statements is / are correct?

a. I, Il and III are correct b. All are correct

c. I, Il and IV are correct d. I, II are correct

© & alfHHS HBleueid UBPw LeTeu(Hd SBBIsamen LIS

L. 19948110 SLewiB glyed THD 2 08 alTHHs Semwloml (WTO)
gemwliugng &1 (GATT) o miy miGseT o H&HGea  ampsler
OnIg RILHHHHL MBOUILDSHSHIL L 6.
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II. @b SIENLOLIGNL SILOLIBSHBIL 104 © M TeNTE6MT60
BOWWsAHLILIL L. (WTO) o L eaiugdems gemeufl 1, 1995 (60
BOL(PDBEES UbSSHI-

III. sBGuts 2 a alfdHHd DML 184 o mii] BTHH6T 2 6leng)

IV. @ HEMELEMLOUISHLD GO FTELUTH S VIGTT6T Gefleurailed
SIGMLOHSHIGTT .

FgNwmeT SmMmISHeneNn &Hewil_Nld

a. I, II wpmo III & b. omarsHHIDd g

c. I, II wpmp IV &l d [, II &M

9. Tamil Nadu integrated Nutrition programme was started in
a. 1980 b. 1975 c. 1955 d. 1985
SLODHTH Q(HHIF MENIHS o' L FSHF| Sl L LD &6v
OSHTLRISLILIL L F|.
a. 1980 b. 1975 c. 1955 d. 1985
10. The National Food Security Act has been executed in the state of
Tamilnadu since
a. December 2016 b. January 2016
c. November 2016 d. October 2016
W CxpFw o ewiey UTHISTIY  FULID  SODBHTL 196D
CFwWeLBSHSLILGHBSI
a. lp&LbuT 2016 b. sgereufl 2016
C. meubuiT 2016 d. &86Lmur 2016
11. Consider the following Statements
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Assertion (A): Purchasing power increases when price decreases and
vice versa.

Reason (R): The production of goods decline, the price of goods
increases and then the purchasing power is affected.

a. A is correct, R is false

b. Both A and R are false statements

c. A is correct, but R is not a correct explanation

d. A is correct, R is the correct explanation of A.

BB alemey  GHMHIHTL QIMRIGD FoHFH DHafESHBaH  LBBID DS
GriTLoTmTeTS).

SIyenid: QuUTHL Sellell © MLSHSH GmmbhH, alensd DISHSTILSHTEO UTHIGLD
BT LITHHBLILBS MBS

FNIB FRWTeIH STTEID SHOUBTEIS.

FaBWl LBHID SHTJENID @Jewi(hD FHeUBTEISI.

&ML Fhlwnerg Suemmed Smyewid Fflwmer allendsd Bl6060

. Spml Flwmeigdl SMyeuld 61U Fampllet Fflwimer allemdasid
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12.

13.

14.

15.
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GDP includes

a. only those goods and services sold in the market.

b. only the tangible goods

c. only the agricultural goods.

d. only the human resources

GDP o_gitenn_sbawigl.

Fhengulled alBusmeUT@GD CUTHL &6 WBBID CFameuseT L (HLD.
HEWIEMITED UTTHSSHEmIQUI OBBILD HISTSH Fnlgul OUIMHL&6IT oL (HLD
Geuenmemtenlp QUIT(HL_ &6 1oL (HLD

. 106N &H  GUGTTMIG6IT LOL (HLD

ap o

The present Director General of WTO is

a. Peter Sutherland b. Renato Ruggiero

c. Dr. Ngozi okonjo-iweala d. Pascal Lamy

® 0% THHS BHpeuaiHHer HBOUTHHUI HeW6eLaUT

a. UL gpiteonei(® b. Grem GLm (HeGwiGyT

c. Dr. pGardl oéamehGam-maiuieom d. umerdaed euMLO

Consider the following Statement.

i.  Dr. Muthulakshmi Reddy Maternity benefit scheme financial
assistance to the tune of Rs. 18,000 in being disbursed to poor
pregnant women.

ii.  Universal Health Care Resolution under United Nations - 2012

iii. Tamilnadu Health system Projects (TNHSP) has launched
ambulance services free of cost (108)

Which one of the following statement is/ are correct?

a. 1, 11 are correct b. ii is correct

c. 1, 1i, iii are correct d. All are correct
LNeiTou(HLD FnBmIHM6TSH H(HSHIH.

1. LTSLT (pHHeol &l Oyl aliBum meosbHl L HHuibel @h.18,000/ -
ey gewipd SHTULTenlll CUeNIBEHDHEG IPRISLILIBHMBSI.

1. @S BTHH6eMNET HTOTAIHHG S DMAUHBGWD FHTHT] UFH -
2012

iii. HOWWETH FETHMmEH FHlrmser oeowiny (INHSP)  @eveus
SiIbLeveiterd (108) Baemeusemend OGHTLMISIU|6ITET6T

aeumid gambmiseiiev Fllwimergl eigl/ eTeneu?

a.i, i gilwrerenel b.ii sflwrergl

c.1,1i, iii sfwmereneu d. osmaisasn Fi

Grouping of small land holding into a bigger one is called:
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16.

17.

18.

19.
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a. Ceiling of land holding b. Collectivization

c. Cooperative Farming d. Consolidation of land holding.
GOMBbHS  HeLEML MIDBHM6N  Q(HRIHeHH  OLNHTHGHHEL  6T6iTeT0leUIBI
SIMLPSHBLILBGH MBS

a. mev o FgFeuyib b. gal L Temieniowimese0

C. Gl (BBl LI6IoT6en680T d. PevaLenio &(hHBISewILIL|

Which of the following profession belongs to the Tertiary Sector of
economy?

a. Fisherman b. Farmer c. Factory Worker d. Teacher
SIDSHEWILUBMIGT 61hSHSH CFHTHL OUITHEMTHTT FATLS HeOBOWEF FTTHHHI?
a. Leveu b. afeugmul c. Gamfbareney uewiwment d. epdfuwi

Production of a commodity, mostly through the natural process, is an
activity in sector.

a. Primary sector b. Secondary sector

c. Tertiary serctor d. Information technology

GuLUTID BuiBens FTTHESH @@ OUTHMeT o _BuSHs OFUieug 6bHHSH
Slevpuller Gguweoun®?

. (PHEOTEMLDS HIeHDs b. ByewiLmbd Hiens
C. gmiysd SHienms d. s®a0 GaMPALHIL LID

Economic Survey is published by the

a. National Sample Survey Organisation

b. Ministry of Statistics and Planning

c. Ministry of Finance

d. Ministry of Commerce and Trade

QUTHMTHTIS  H6ewT& 0B BHLILY 60 GeuelulLiuGaS Bl
a. Cadlw wrHfl gLu1e] SjenLoli

b. yerefuluied BmID HLIOL6D SHENDFFBHID

C. Hg DIMOFFHID

d. eumewiiu OBBID QUTHHH DIDIDFFHID

Find the incorrect option:

1. Secondary sector provides employment to a large number of people.

2. Secondary sector is also called the service sector.

3. Secondary sector uses mechanical power and modern use of labour.

4. Secondary sector produces goods for local and international
consumers.

a.1land 2 b. 2 only c. 3 only d. 1 only

SHaupreeuBemBs CHTbHolSH[HHS:
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20.

21.

22.
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l. @rewiLmD &HedB FHB  lemallevnel  HHEHHG  CeusmeveuruiienL
QUIPEIG BB

2. QyewiLmd s eidl CFameuiHgHiens 61aimId DIMWSHSLILBHBSI.

3. B@UewILTD Sl SUbHHTHMBUD 2 empliumelssnen Haler (Lpenmuilenid
LWETU(BSHSHIS BSI.

4. @JewiLMD MM o 6T  BBID  FTeuCxhs  mISTCeUT(HBHHTET
QUT(HL BT 2 _(HeUTHEGHIH MBS

a.1 opmb 2 b. 2 B C. 3 L (b d. 1 w @G

Find the incorrect option:

a. MGNREA has been implemented in 625 districts of India.

b. MGNREA guarantees 200 days of assured work to the people who
are able and in need of work.

c. If the government fails to provide employment, unemployment
allowances has to be paid to the people.

d. One third of the jobs are reserved for women.

seaupTaaBenBsd CHiTH0HHdHSH:

a. waTHT  &Mhs  CHFw  oags  Geuemeveumuill] o mMISHGHHIL LD
(MGNREA) @pglumalsd 625 wreul L Eisefled SI0sOLBSHSLILIL BeiTeng.

b. MGNREA gz dmpeitosmen woppid Calensv GoHemauuimet 10dE6EhEE
200 BT &6 Gauemeveuruilientl 2 mig OFUISIBSI.

C. opgnegd  GCoumevaumlIlilenel  HTHHAUBSITL  DHBHTH 2 FHUIHND
SIrFTmsD CamTbhds Gealewi(BLD.

d. oeuBrled eLPGATN3I6L &(h LRI Gauemev OLI6TT B ETH B HTH
QRSISSLILIL (HETT6NS).

Find the incorrect option:

a. Underemployment means more people engaged in a job than
needed.

b. Underemployment is found only in agricultural sector.

c. Underemployment is also called disguised unemployment.

d. Underemployment is also found in other sectors.

saupreaBnBsh CHTHOHbHEHS:

a. &omm Geuemevuieiiento eleiig CHemeudEd DiSHHWTeT BHUTH6T Gouensvuied
SIDTHSLILI(BHEUGI.

b. @emm Beauenevuieienio Geuenmmewieniog, Hiewmuied WL BGW HTERIILGS MBS

C. &HMD GouemevulleirenLo LOGDMB(LPE Geauemevuileitemio 61T MILD
SIMPSHSILGH B

d. eos Gouemeouieiieny BB HlenBHeievd STERILGSBSI.

An organization whose aim is to liberate international trade is

a. World Bank
b. International Monetary Fund (IMF)
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23.

24.

25.
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c. World Trade Organization (WTO)

d. United Nations Organisation (UNO)

FrauBss  alfdHHeHms  salmlilbhdhIelmsd  Crrésonsd  Cemer
DI6MLDLIL]

© 60% GUMIGD)

gTeauGspa mreww BHwbd (IMF)

o & aleHds ey (WTO)

. @maaw mprpser gewiy (UNO)

a0 o

What is the idea behind the development of special Economic Zones
(SEZs) in India?

a. To boost Indian industries

b. To solve the problem of unemployment

c. To produce handicrafts

d. To attract foreign investment.

@bFHwmaled Fpliy CUTHENMTSHTY LWL 60MIGM6T 2 (HeUTEHE6USHT  L1leoTermeu]
GpTeHHMmIB6IT 616316017

a. @bHwsH CHTHBFTNEVHMET 2adhGHAILILIS]

b. Geauemevuieiienio Hobsemevd, SHiTlILIG)

C. MBI IGUTHL H6M6N 2 (HAUTH GG

d. ol waeSbeemen FIILIG]

Removing barriers or restrictions set by the government is known as

a. Privatisation b. Liberalisation

c. Globalisation d. Industrialisation

SIJFTRISHITE0  HiTTulSSIULL  HOLFB6T  DleL6vFH S BULTHBE6NT
bHSGHUDH _ 1B DIMPSHBILBHBSI.

a. SHeNWTTLOWILOTESH60 b. srymemouwIoTdE60

C. 2 6UBLOWIDTEHHED d. Osmfeouiordsed

The task of collection of data in all the three sectors of the economy is
done by which of the following organizations.

a. NSSO b. BPO c. KPO d. CSO
QUTHEMTHTISHHT i@l FHlewmdelled  FHraysenend GCsafld@d  Liewl
LesTeu(hD 61hd  SIMLOLILITL OFUIWIILBGSIBSI.

a. Gxdlw wrHfl sule enLOWID

b. auenilad QFwIGOIPNB SIUIGTSHBLD

C. 9ley CFWEOLPHB HIULIGVTHBLD

d. wHHw Lereiuiuied SiemioliL]
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27.

28.

29.

30.
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The type of unemployment in which more number of people work
than actually needed is known as

a. Disguised unemployment  b. Seasonal unemployment

c. Underemployment d. Over employed.

Crmeausd  oFHswrer  BUTHeT  Geuemev  OFuieugl,  Geuenevulleenio
QUM B BH61T 60 ST DIMPSHBLILIBHBSI

a. wBps Geumevulerenio b. umeustev Gauemevuleienio

c. & Geumevuilaiiento d. @FHsliguin@e LemiuILDTEgH6e0

What is the most important function of money?

a. Used in banking transactions b. Payment of loans

c. Medium of exchange d. Stock market exchange
LS FHler e (pehHw GFuwedun® ereorer?

a. aumgl ufeuTdEHamenselsd LIWGLIGHSILIGS B

b. sLcismen CFISHBHIMISHBHTH

C. ufloTBp e &b

d. uRigGF Fhes UMDTBBID

Choose the reason for which MNCs are attracted to India for
investments.

a. India has educated English speaking people

b. India has skilled professionals

c. India has lot of natural resources
d. All of the above

UeTeolTl(h  BBIeUaImIS6T (IPHeVB OCFUINSBHTH GHHUWTeUTeD  FTHSLILIBLD
HMyenimisamensd CHho%HHs

a. @b spmPlevd CuFHD Wheemen HHBLISHSHI6TENS

b. @b HpenwaTuibsHalTsemen CsTeas (HeTend)

C. @bFHWMTaled DIHSLILIQUITET BUIBENS GUGTTHIBET © _6IT6IT6

d. BB 2 sitem SIEMRIHHID

The consumer Protection Act, 1986 ensures that every Consumer in

India should possess ___ Consumer rights.

a. Four b. Two c. Ten d. Six

mISTCeUMIT LITGHISTUILF FL LD 1986, IALIING) mISTCUT(HEHEHID
BISTCauT o MenioseT SmliLma o mig CFuIsng?

a. [HIeG, b. ®yewi C. USH3 d. symi

When is the National Consumer’s Day observed in India?

a. 10t November b. 24th September

c. 24th December d. 10th December
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32.

33.

34.

35.
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SbFHwmaled CadFlw msTCuTT Ferbd e11CUTH DiEmIFNeESILGHBHI?

a. mpeubuT 10 b. Gali_ibur 24

C. 1Q&buUT 24 d. wewur 10

The impose tax on profession.

a. Central Government b. State Government
c. Both State and Central Government d. Nationalized banks

@aThed eufl alglliLg)
a. pHHUI ST b. wmHlev ©iys
C. IDHHWI OBBID LOTHEV DIF& d. GaAwipwIoTeEILL L auBIE®6IT

The Monopolies and Restrictive Trade Practices Act (MRTP), 1969 was
replaced by

a. PURA model

b. Competition Act 2002

c. Foreign Exchange Regulation Act 2004

d. Foreign Exchange Management Act 2000

(ai@iflen  1OBBID  ATHSHS SLGUUTLEH HOL(PpedB FLLD 1969 —&&
UFHeVTH 6hdh FLLID 2 (HeUTdhBLILULL HI?

a. PURA ongf

b. Gumly gL (2002)

C. OPpHwF GFeoTeusml QUmIGWenB FL LD 2004

d. omppws GFeureaeni Guweoremsienid F L b 2000

Mudra Bank is related to

a. Housing Finance b. Micro Finance
c. Personal Loan d. Vehicle Loan

‘WpHIT eUmISIUL 6T OHTLITLEDL WIG)

a. ol (pbaL 61 HH) b. miewt B

C. HNBUT BHL_63T d. anserd B

The Reserve Bank of India Act passed in

a. 1921 b. 1925 c. 1929 d. 1934
BOhHu ewowl eumISule FULID SuIBmiul euHLLD
a. 1921 b. 1925 c. 1929 d. 1934

Which one has the sole right to issue bank notes of all denominations?
a. RBI
b. Ministry of Finance
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37.

38.

39.
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c. Cabinet Committee on Economic affairs

d. Both (a) and (b)

SpsewiLauBmleln, @bFHwraled uUmISHmS AFFALG OeuelulBLd SiFHlsTyD
WIT(HeDL_UIZH!?

a. Mafeu Cumis oI SbHuim

b. B8 @imw&FFHID

C. QuUmmeMTHTT aleusTy DIMIDFFHH (LD

d.a By b

Which committee was constituted to assess the profitability of public
sector banks?
a. Kelkar Committee b. Narasimhan Committee

c. Jha Committee d. Raja chelliah Committee

CUTHISSHINM RIIEAL ] GUITLIS] SH6NSH LSHILITH CFUIISHBHTS
SIMDSBLILIL L G (LD

a. GxeLaT & b. pyflibwest @ 1p

C. |1 G d. gmegm  QFevemeOWIT GH(LD

In India, the Industrial Development Bank of India was started in the

year

a. 1964 b. 1963 c. 1965 d. 1961
ObFHwraled, @nhHul OHTH60 euenTFd] eumigd GHTLmISLIULL  S6010H
a. 1964 b. 1963 c. 1965 d. 1961

The population of a country will increase when

a. Birth rates and death rates are high

b. Birth rates and death rates are low

c. Birth rates are high and death rates are low

d. Birth rates are low and death rates are high

@(H BTLIED LDHFHTOHTMNS DISHBMLILIG.

a. Upliy efswd, @mUy aisupd DIHSWTE HHGW LTI

b. s, eisupd, @miiy aispd GopauTs SHEGD CUTIpS

C. Uply eisb SFHs0TEaD, OBl oiHd  GoBaTEalD BHHEGLWD
CUTLDSI

d. Upiy  efsb  Goparsald, @Bl  oisld  FBTEID  B(HBEGID
QUTIDSI

In 19th century population explosion occurred due to
a. discovery of vaccination
b. discovery of antibiotics

c. uncontrolled reproduction
d. discovery of vaccination and antibiotics
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42.
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19 ob HIHBBTENED WHH6T CHTemd CLHBHD HUTIOSOTEIHBE STF6ILD
a. bl Fseier HeniBLIQLIL

b. wmbhaiseien seuBLgrL]

C. 0SehFuw e ICLHESLD

d. sGiud wBBId WwHbHSHIBMN6T BawTBLIQLIL

The process of industrialization is the essential pre-requisite for
a. Generating employment

b. inducing investment

c. Achieving economic development

d. increasing per capita income

OHTH60 LWIDTHGHD BHBG WS (PSS UWIDTEIH LEGLD

a. GeuemeveuruitienLitl OILI(HEEGFH60

b. epeosabmss HrawiGHe0

C. QUTHEMTHTT GUETTFF MU DIENL FH6D

d. sefipUT HLTRISH®S 2 UITSHHIH6

Consider the following statements

According to the first stage of Demographic transition
I. Death rates are high II. Low birth rate
III. Absence of medical aid

Select the correct answer using the code given below:
a. I and IIT only b.Iand II only

c. Il and III only d. [, IT and III
BIDHBHENIL FaBedB DLTTUIS.

LD&BHET OFHTeNS OTBBHSHET (PSH6D [HlenevuTest Lig

I. siFswTen @Bl aisb II. @emeurerr LBy eisd
III. wmsHzen 2 Hal EevevTEmLD

SpdHHemILauBmleT Fflwrer alemLemwl CHThHOHHdHD

a.l wmpid III o’ Gid b.1 wmid II o Gib
c. II wmmd I 1o’ Gib d.L II wmbmup III
Match the following

A.NFSA 1.1982
B. MGR Nutrition Meal Programme 2.1975
C. ICDS Project 3. 1980

D. Tamilnadu Integrated Nutrition Programme 4. 2013
A B C D

a. 4 1 3 2
b. 1 4 2 3
c. 4 1 2 3
d 2 3 1 4
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44,

45.

46.
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CUT(HSHHIH

A. NFSA 1. 1982

B. MGR eal’ 555 2 6] SH LD 2.1975

C.ICDS gL 3. 1980

D. 510116 @pridmenidaliul L ol L FF6H%5 S 4. 2013
A B C D

a. 4 1 3 2

b. 1 4 2 3

c. 4 1 2 3

d 2 3 1 4

The Drought Prone Area Programme (DPAP) was launched in the year
of

a. 1953 b. 1963 c. 1973 d. 1967
pHwraied eupldl urHiyl ugd FHirw (DPAP) Osrimsii’ L e
a. 1953 b. 1963 c. 1973 d. 1967

Arrange the following in a chronological order.

1. Birth 2. Death 3. Funeral 4. Marriage 5. Education
a.1,3,4,5,2 b.1,5,4,2,3 ¢2,3,451 d.453,1,2
LeTeu(hHeuenieuBenm  SrevaulenaiL(hsHHiH

1. Uiy 2. Ompiy 3. @mg FLmIG 4. HHOGID 5. @evall
a.1,3,4,5,2 b.1,5,4,2,3

c.2,3,4,51 d.4,53,1,2

In which year the first All India census was completed?

a. 1872 b. 1881 c. 1991 d. 2001

(PHeVTeUFH DBV @HHUI  10HH6T  CFHTend HewidbOdBUIL (PSS L
e 61517

a. 1872 b. 1881 c. 1991 d. 2001

The Sarva Shiksha Abiyan programme is being implemented since
2001 for the significant objective of

1. New schools

2. Residential facilities

3. Transportation or Escort facilities

4. Uniform and free meals

Which of the statement is incorrect?

a.1land 2 b.2and 3 c.3and 1 d.1and 4

gieu  Fdbagr ouUilwmer HLb (Demeral(hbGd Heval L) 20011
SLWIB  (IPH60 DIIPOLIGHSLILL L H6iT (1pddlul Cpmehasib.

1. ysw ueeflsel

2. ueTauled HMIF LRSS FSH GBLBHHHIH6E0

3. uTEHIBTUUL T Snigul GUTHGTSHS
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47.

48.

49.

50.
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4. FmewL LOBBID OHUI 2 6Te
Comaemi gnBilev 61gl/ elenal SHeumTerenel?
a. 1 opmb 2 b. 2 womwd 3 ¢ 3 wpmd 1 d. 1 wBmd 4

Who appoints the Chairman of Finance Commission?

a. President of India b. Prime Minister of India

c. Chairman of the Rajya Sabha d. Speaker of the Lok Sabha
ShHwumalear B G Hmeveuam] HUIOlEGHD DISHSTID CumBeuT wimT?

a. @bhHU GQWIEH HEDeve] b. @bsu Uysw whai

C. Jruwl FuTellell &FUMBTUIST d. Geund Fumeler FUMBTUIGT

NITI Aayog came into existence in the place of

a. Planning commission b. Finance commission

c. Banking commission d. Education commission

‘BH AUBLTS’ BML(PMBEE 6UBUSBES WP SbHS SienLoliL
a.MLéd Gw b P Gu  C amdd G d. seveld Gap

Which one of the following is tax revenue for the states in India?

a. Income tax b. Custom Duties

c. Excise Duties d. Land Revenue

LlesTeu(HeueToUBMIeT 61& @bl LOTHIeLRISEHSHHTE alifl  auhHeuTul?

a. eugpomest eufl b, &mis  euf C. H6vmev 6l d. Bev eumeumul
In July 2017, was launched in India

a. Demonetization b. Goods and Service Tax

c. Insolvency and Bankrupt code d. Swachh Bharat Mission
SbgHwmaled, aremev 2017-60 SIBWPSUILGSHSULL LS.

a. uewl bHS (LM b. uewiLMise BEID CFeneu el
C. aumIg QML Bevev GHMuib d. gnuiemie bHuwir S L ib
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